SRt E - 32 - 5 - 6 Flexible coupling E Coupling Series
CHENET

Ordering form

YU—X% SHED) AERA) REd2)
Type Outer Bore Bore

(FIWF LI A7) (Oldham type)

S o e S
Parallel Angular 7U4 —
Aluminum alloy Mt misalignment M misalignment M End play [ 2D | (3D |

¥R 188 ME RELIE
: : 2 2515 g ]
g 1 ] Em{§¢5~¢32§?0)ﬂ41%74~/7‘y7 (E)" Sliir %_ %) & Material RENIE surface treatment i.‘ ‘E_‘P L2 —— L3 —
@ Wide range of models for shaft diameters ranging @ > KT 1 Body SA7IVIE L Aluminum alloy TILTA b Alumite S—
from ¢5 to ¢ 32mm. HARYDS ARy g’* YARNY>Y side ring =HT7IVIEE Aluminum alloy TILIA N Alumite _ Cs
2 @HEEB(:%EE%%_%:&(:J:D Side ring L Side ring % AN—1 spacer = HTIVIESE Aluminum alloy TILZA K~ Alumite é I I 5 ‘, c& ) § ;’
- } (‘\yaa W y#b :31—:)3;/’( % Z2Z44 Slider 2HT7IVIEE Aluminum alloy IV A~ Alumite L l jj>
Preloading on taping section for no backlash. 3 RIVK screw SCM 435 #RAIEDALIR Unlooseness treatment 0
3 E@BHILSEE ~ i
Made for easy installation. OvoRIbk ~ & o Bi
1 :l: *i Locking screw ’ ‘. B Unit mm %_j
o o T izes™ Locking stram S :}
g BARBILY | bUUBE | HERC | HERA |REOREZE | BEET-ON | B B | @ B £ R < | & : Tightening 3
3 B oA di - d2 Maximum | Torsional stiffness | Parallel misalignment | Angular misalignment Maximum Moment of inertia Weight Price Type d1 - d2 %j:iﬁ:{f Sﬁgll\eiité;j;ﬁt D D2 L L2 L3 L4 L5 A AE torque 2 ®
% Type o torqu;fl ciarr;acny NI c?%arﬂty capgcuty rotatll%r; nsvfueed - . v installation installation Size pcs Nem i a;r
2 5 10.79 490 0.10 0.5 8000 9.5 X107 72 10,600 5 18.0 14.0 32 28 51.0 | 15.0 | 18.0 7.5 8 M4x12 8 2.94 E% B
6 10.79 530 0.10 0.5 8000 1.07x107® 84 10,600 6 18.0 14.0 32 28 51.0 | 15.0 | 18.0 1/ 8 M4x12 8 2.94 ACS
6.35 10.79 569 0.10 0.5 8000 1.07x10°® 83 10,600 6.35 18.0 14.0 32 28 51.0 | 15.0 | 18.0 7.5 8 M4x12 8 2.94 &
7 10.79 637 0.10 0.5 8000 1.12%x107° 91 10,600 7 18.0 14.0 32 28 51.0 | 15.0 | 18.0 7.5 8 M4x12 8 2.94 ?)
E-32 8 10.79 726 0.10 0.5 8000 1.19x10°° 90 10,600 E-32 8 18.0 14.0 32 29 51.0 | 15.0 | 18.0 7.5 8 M4x12 8 2.94 ACD
9 10.79 834 0.10 0.5 8000 1.22X10°° 90 10,600 9 18.0 14.0 32 29 51.0 | 15.0 | 18.0 1/ 8 M4x12 8 2.94 ﬂ
9.525 10.79 912 0.10 0.5 8000 1.24x107° 88 10,600 9.525 18.0 14.0 32 32 51.0 | 15.0 | 18.0 7.5 8 M4x12 8 2.94 -
10 10.79 990 0.10 0.5 8000 1.24x107° 90 10,600 10 18.0 14.0 32 32 51.0 | 15.0 | 18.0 7.5 8 M4x12 8 2.94 AHS
1 10.79 1100 0.10 0.5 8000 1.28x107°° 95 10,600 11 18.0 14.0 32 32 51.0 | 15.0 | 18.0 7.5 8 M4x12 8 2.94 @
9.525 17.65 1480 0.15 0.5 8000 2.52%X107° 125 11,800 9.525 18.0 14.0 40 32 52.5 | 16.5 | 18.0 =5 8 M4x12 8 2.94
10 17.65 1490 0.15 0.5 8000 2.54x10° 135 11,800 10 18.0 14.0 40 | 32 | 525 | 16.5 | 18.0 | 75 8 | M4xi2 | 8 2.94 { AHD
1 17.65 1510 0.15 0.5 8000 2.57%X10° 135 11,800 11 18.0 14.0 40 32 52.5 | 16.5 | 18.0 7.5 8 M4x12 8 2.94 ¥ %
E-40 12 17.65 1830 0.15 0.5 8000 2.61x10°° 140 11,800 E-40 12 18.0 14.0 40 32 52.5 | 16.5 | 18.0 7.5 8 M4x12 8 2.94 ;
12.7 17.65 2340 0.15 0.5 8000 3.08x10°% 142 11,800 12.7 19.5 5.5 40 | 38 | 565 | 165 | 19.5 | 9.0 | 8 |M4xi2| 8 | 2.94 | AHT
14 17.65 2180 0.15 0.5 8000 3.24%107° 150 11,800 14 19.5 15.5 40 38 55.5 | 16.5 | 19.5 9.0 8 M4x12 8 2.94 1 @‘
15 17.65 2780 0.15 0.5 8000 3.29%10° 155 11,800 15 19.5 189 40 38 56.5 | 16.5 | 19.5 9.0 8 M4x12 8 2.94 7 AS
12 24.52 2940 0.20 1.0 6000 4.65x107°° 188 13,000 12 18.0 14.0 45 32 54.5 | 18.5 | 18.0 7.5 8 M4x12 8 2.94 Y
14 24.52 3130 0.20 1.0 6000 4.54X107° 172 13,000 14 19.5 1159 45 38 57.5 | 18.5 | 19.5 9.0 8 M4x12 8 2.94 '5@:2‘
E.45 15 24.52 3380 0.20 1.0 6000 4.81X10°° 190 13,000 E.45 15 19.5 15.5 45 38 57.5 | 18.5 | 19.5 9.0 8 M4x12 8 2.94 AD
16 24.52 4150 0.20 1.0 6000 4.88%x10°° 190 13,000 16 19.5 8.9 45 39 57.5 | 18.5 | 19.5 9.0 8 M4x12 8 2.94 ?Q,%ﬁ
17 24.52 4760 0.20 1.0 6000 6.04x107° 220 13,000 17 23.0 18.0 45 4 64.5 | 18.5 | 23.0 | 10.5 10 M5x14 8 6.86 S
18 24.52 5070 0.20 1.0 6000 6.09%10°% 220 13,000 18 23.0 18.0 45 42 64.5 | 18.5 | 23.0 | 10.5 10 M5X14 8 6.86 AL
17 29.42 5390 0.20 1.0 6000 8.59%X107% 280 16,500 17 23.0 18.0 50 41 66.0 | 20.0 | 23.0 | 10.5 10 M5x14 8 6.86 m
18 29.42 5750 0.20 1.0 6000 8.48%10° 265 16,500 18 23.0 18.0 50 42 66.0 | 20.0 | 23.0 | 10.5 10 M5X14 8 6.86
E-50 19 29.42 6020 0.20 1.0 6000 8.61x10°° 265 16,500 E-50 19 23.0 18.0 50 43 66.0 | 20.0 | 23.0 | 10.5 10 M5x14 8 6.86 e
20 29.42 6130 0.20 1.0 6000 9.93%x10°% 290 16,500 20 26.0 21.0 50 45 72.0 | 20.0 | 26.0 | 13.0 10 M5X16 8 6.86 :a? .)/
22 29.42 6350 0.20 1.0 6000 1.03%x10™ 290 16,500 22 26.0 21.0 50 47 72.0 | 20.0 | 26.0 | 13.0 10 M5X16 8 6.86 £
20 37.27 6820 0.20 1.0 6000 1.32%x10™ 340 18,400 20 26.0 21.0 55 45 73.0 | 21.0 | 26.0 | 13.0 10 M5X16 8 6.86 MJ
22 3r.27 7070 0.20 1.0 6000 1.36x107 345 18,400 22 26.0 21.0 55 47 73.0 | 21.0 | 26.0 | 13.0 10 M5%16 8 6.86 &
E-55 24 3r.27 7600 0.20 1.0 6000 1.39%X10™ 345 18,400 E-55 24 26.0 21.0 99 49 73.0 | 21.0 | 26.0 | 13.0 10 M5%16 8 6.86 JKa.
25 3r.27 7870 0.20 1.0 6000 1.55X10™ 360 18,400 25 28.0 23.0 55 50 77.0 | 21.0 | 28.0 | 15.0 10 M5%18 8 6.86 U JKW
28 37.27 8060 0.20 1.0 6000 1.58Xx107 360 18,400 28 28.0 23.0 55 52 77.0 | 21.0 | 28.0 | 15.0 10 M5%18 8 6.86 3 &
25 44 .13 8830 0.20 1.0 5000 2.13x10™* 450 21,000 25 29.0 23.5 60 50 82.0 | 24.0 | 29.0 | 15.0 1 M5%18 8 6.86 I; J
28 44.13 8970 0.20 1.0 5000 2.17x10™ 450 21,000 28 29.0 23.5 60 52 82.0 | 24.0 | 29.0 | 15.0 1 M5%18 8 6.86 1
E-60 30 44 .13 9150 0.20 1.0 5000 2.21x10™ 445 21,000 E-60 30 29.0 23.5 60 54 82.0 | 24.0 | 29.0 | 15.0 1" M5%18 8 6.86 7 @
32 44.13 9320 0.20 1.0 5000 2.51x10™ 470 21,000 32 32.0 26.5 60 56 88.0 | 24.0 | 32.0 | 18.0 11 M5%20 8 6.86 N
BB SR E i — LN —IICTY IV O—RTEFT, i . . N o
F— . : Mt h— AR—I(CCHYDIYO—RTE ° A A i H H i ETES E i1 R 9:-7‘: o L1
GAD data [2D(DXF-DWG) 3D (ACIS-STER)] CAD data dowrioadabio rare: -~ A SRS EF! RSN  http://isel.ip Eﬁﬂ! B RUC T oL i P21—P.24

89 | PrelLRAH PARIVBERRH | 90



